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(1-5).  There are blanks in the following passage, each of which has been numbered.
Four words are suggested against each number, one of which fits the blank

appropriately. Find the appropriate word.

Sarla is a housewife. She believes in God::Sheisa.........(1)......... . She thinks as God is
........... (2)..........., He 1s present everywheﬁre. She has two sisters. Her elder sister is
Renuka. Sheis............(3).......... . She does not help anybody and offer money to people
who are in need. Sarala's younger sisterisa..............(4)............. . She spends too much
on useless things. Sarala has a friend. She is Vani. Sheisa............(5) ............ . She

believes in fate.

1. (1) theist (2) mercenary
(3) bilingual (4) honorary

2. (1) expert A (2) linguist
(3) versatile (4) omnipresent

3.. (1) incorrigible | (2) monogamy
(3) stingy (4) centenarian |

4. (1) teetotaller (2) spendthniff
(3) biographer (4) mercen@fy

5. (1) fatalist (2) monogamy
(3) expert | (4) wversatile
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Rajesh behaves friendly and enjoys being with other people. The nature of
Rajeshis...............

Find the correct word to fill the blank.

(1) sociable -(2) trusting

(3) generous (4) sarcastic

The movie 'Bahubali' is the magnum opus of the director Rajamouli.
Choose the meaning of the underlined expression.

(1) thelast work (2) the first work

(3) theleast work (4) the best work

Find the plural form of 'syllabus'.
(1) syllabuses {2) syllabi
(3) svllabis (4) syllabusis

Poverty is a barrier for many to get better education.
Choose the meaning of the underlined word.

(1) hurdle (2) surface
(3) hesitation (4) sentiment

Identify the word which is NOT a compound adjeﬂive.
(1) peacock —-blue (2) father-in-law
(3) cold —blooded (4) new-—laid

Mounika is looking after her son.

Identify the meaning of the underlined expression.

(1) taking care of (2) searching for
(3) watching seriously (4) beating

I have not met my classmates for ages.

Identify the meaning of the underlined expression.

(1) along period of time (2) a very young age
(3) old age (4) no age

Choose the antonym of 'contented'.

(1) uncontented | (2) 1ncontented
(3) discontented (4) noncontented
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The word 'refuge’' is referred to as ..............
(1) aperson ; (2) aplace
(3) a thing (4) amat

Indians consider Gandhiji 'the father of the nation' because he rendered .......
services to the nation.

Choose the correct form of the underlined word to fill the blank.

(1) considerable (2) considered

(3) consideration (4) considering

Find the sentence that has a relative clause.

(1) Who 1s your best friend?

(2) My father, who 1s active, 1s always busy.

(3) My sister is not only a singer but also a dancer.
(4) My brother is strong but he is short.

I..........n.. go there tomorrow.

Identify the appropriate contracted form to fill the blank.

(1) willn't (2) won't

(3) shalln't {4) didn't
NEGAHEcovcnnaammuas VOl

Find the appropriate verb with correct tense to fill the blank.
(1) has arrived (2) has already arrived
(3) has not arrived (4) did not arrive
Thereis............... to make a cup of tea! What is wrong with the pipes?
Identify the appropriate expression to fill the blank.

(1) enough water (2) water enough

(3) not enough water ~ (4) not water enough
He missed his school bus ...............

Identify the later part of the sentence.

(1) as he woke up late (2) but he woke up late

(3) or he woke up late (4) that woke up late

I know Madhu.

The passive form of the above sentenceis ............

(1) Madhu was known by me (2) Madhu was known to me

(3) Madhu is known by me (4) Madhuis known to me
[4]
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Gold is precious than ............ 1ron.
To fill the blank, choose the appropriate word.
(1) a (2) an
(3) the ~ . (4) none of these
It may rain today.

This sentence expresses........
(1) apermission (2) apossibility
(3) an ability (4) acompulsion

A: Are you bringing any friends with you?

B: Yes, I am bringing .............. friends with me.

Identify the appropriate word to complete the response of 'B'.
(1) any - (2) some

(3) every (4) each

In spite of his poverty, he completed his education.
Choose the meaning of the underlined phrase in the above context.

(1) located before (2) disregarding the difficulty
(3) because of (4) 1inthe event of
She................. her homework before she slept.

[dentify the correct verbs with appropriate tense to fill the blank.

(1) hascompleted (2) had completed

(3) have completed (4) will complete

Ganesh said, " Sister, I didn't finish my work".

Identify the indirect speech of the above sentence.

(1) Ganesh said that his sister didn't finish her work.

(2) Ganesh told his sister that he didn't finish her work. -
(3) Ganesh told his sister that he hadn't finished his work.
(4) Ganesh asked his sister to finish her work.

Choose the gramatically correct sentence regarding to the use of
I tine e

L]

(1) It's time he did his homework. (2) It'stime he does his homework.
(3) It'stime he will:do his homework. (4) It'stime he may do his homework.
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29, Nehruwasfond ....cc...cccc.... children.

Choose the appropriate preposition to {il] the blank.

(1) of (2) in

(3) at (4) about
30. Having read the book, she returned it to the library.

The underlined part in the above sentenceis ............ |

(1) a nonfinite clause (2) afinite clause

(3) a defining relative clause (4) a nondefining relative clause

31. Choose the correct spelling.
(1) Tribute (2) Tribut
(3) Triebute (4) Trebute

32. Choose the sentence with correct capitalization.
(1) The Rose is a beautiful flower. (2) Sunday is a Holiday.
(3) Mohan is a Great Doctor. (4) Ramesh is a doctor.

33. Identify the sentence with correct punctuation.
(1) What a beautiful shirt this is! (2) What a beautiful shirt thisis?
(3) What is a beautiful shirt. (4) This is a beautiful shirt?

34. Choosec the wrongly spélt word.
(1) Survey (2) Ketle
(3) Solemnly (4) Mourning

35. Aninterrogative sentence ends with ..........
(1) afull-stop | (2) a question mark
(3) an exclamation (4) adash

36. Writinga diaryentryis..............
(1) abusiness writing (2) acommercial writing
(3) apersonal writing (4) an official writing

37. The following salutation is correct to address a collector while writing a letter of

complaint.
(1) My dear collector (2) The dearest collector
(3) Hello! collector - (4) Sar |
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Choose the subscription for a formal letter.
(1) vours lovingly (2) vyours truly
(3) vours ever (4) yours faithfully

The first sentence in a news report gives ............

(1) the message of the event (2) the summary of the event
(3) the details of the publisher (4) thedetails of the state
A biographical sketch provides................
(1) the details of a person's life (2) the details of a village
(3) the details of a marriage (4) the details of a road accident

Alas! She i1s dead now.

What does the above sentence mean?

(1) greeting (2) hesitation
(3) obligation (4) grief

You should follow the rules.

The purpose of using 'should' in the above contextis..............
(1) toexpress obligation (2) togive permission
(3) totake permission (4) toexpress ability

It may rain today.

The language function of 'may' in the above expression is.......

(1) toexpress ability (2) toexpress possibility
(3) toexpress certainty (4) toexpress uncertainty

Your friend greets you "how do you do"?

What would you say to him in return?

(1) Idovery well. (2) Idoeverything fine
(3) Howdoyoudo? (4) Nothing to do

Identify the sentence which expresses a polite request.
(1) Why don't you give me your pen? (2) I want to take your pen.
(3) Please lend me your pen. (4) Idon't want your pen.
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(46-50). Read the following passage and choose the correct answers to the questions

46.

S-1

given after it.

The world's potential supply of fresh water has been affected by pollution
and irregular rainfall patterns. Water use has increased twice as fast as the
growth of population. In the future, global warming is expected to have a
significant impact on water supplies with increased floods in some areas and

droughts in others.

Most peuple.in underdeveloped countries get their water from streams, rivers
or storage ponds. This water is I'ilkely to be polluted. The only clean water
available comes from underground, called groundwater, and is accessed through
wells and water pumps. One pump or well is often shared by a whole village.

This means having to walk a great distance to collect supplies.

Imagne life in your house with no taps for water and no toilets. This 1s how
more than two billion people in the world have to live. About three billion people
in the world are not able to wash their hands with clean water after using toilet-

in fact they have got no toilets.

Such conditions bring severe health hazards. Raw sewage constantly
pollutes their water supply and spreads diseases. Water pollution 1s responsible
for 25 million deaths a year and half of all the world's diseases are spread through

water.

As there has been an increase in population, there is an increase in
the .....

(1) usage of water

(2) supply of water

(3) floods and droughts

(4) growth of trees

(8l



47. The best resource for getting clean water1s ...............

48.

49,

(1) trees
(2) floods
(3) rivers

(4) underground

Choose the correct statement from the following.
(1) There are no streams in developed countries.
(2) Water in storage ponds is fresh and clean.

(3) We have to use clean water to avoid health hazards.

Q. Booklet A

Code

(4) There are no toilet rooms in underdeveloped countries.

This passage describes the ...............

(1) ‘importance of toilets

~ (2) importance of global warming

50.

S-1

(3) water pollution

(4) importance of storage ponds

This passage says that .............

(1) thereis no fresh water in the world
(2) polluted water spreads diseases

(3) we can't get groundwater from pumps

(4) we can get flood water because of global warming

[9]
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Identify the terminating decimal.

308 TS LooBRND STCEID cererersanas
2 8
(1 = @
3 1 |
® 3 @
Zero of the polynomial (3x —1) is ....c.......
(3x —1) 23350 QAo By DBID ceeverararess
(1) 3 2) 0O
@ = @ 1
) 3

Which one of the following is NOT a linear equation?

54 (300 H0EEered® DO BHA BRMEE SHE?
(1) bx+4=y+3 2) x+2y=y-=x

B 3-x=y°+4 | (49 x+y=0

Which one of the following sets are equal?

%@c&mﬁﬁsmﬁnﬁ:w ...........
(1) A={1,0} B={a,b) 2 C={0,a} D={b,0}
(3) E=1{4,812} F={8,12,4] @ G-= {2,5} H={521}

The discriminant of the equation x°+4x +2=0is ..........

224 4x + 2 = 0 SN0 Doy, DD ceverienenns |
1) 8 2 -8
(3) 10 4 4
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(n+1)(2n+1
Ifan:n(n ) ) then ¢z =..........
nin+l)(2n+1
a, = —( )( —] Q00 T = vevernn
6
(1) +1 2 n(n+l)
(3) 55 4) 91
The formula of the area of a triangle s .............
(Oghe POy QB rreenreeesaes
X)+Xg+X3 NtV t+ s X tXy Nt Yy
(D 3 3 @) 2 2
1 2. 2
® 51X % (3 -%)] @ (- x)" + (2 - )
How many tangent lines can be drawn to a circle from a point outside the circle?
Y00 G, PDOND) Kool HITRURD I HEOeen AADRY twee
(1) 1 2y 2
(3) 3 (4) 4
"Book" is an exampleof .............
(1) prism (2) circle
(3) cone {(4) cuboid
G0N0’ B3 ETNTUED erennaneee
(1) sSepson (2) S
(3) XD (4) BE s
If SinA =CosB then A+B =.........
Sin A = Cos B @wod A+ B 2838 esenens
(1) 60° (2) 90°
(3) 45° (4) 120°
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In APQR |R = 90° then hypotenuseis..............
APQR & |R = 90° ©50a5% ¥ svvvsiersrennes
(1) PQ (2) PR
(3) RP (4) PP
Probability of sure event is ...........
PuhDd P uﬂuﬁb ;’::aiﬂé@é.’a ............ 3
(1) 0 2) -1
@) +1 5 g 4)., 0
The midvalue of the class 10-19is ......_..
1019 51D G3ol), B0 DD wvverrernne
(1) 24.5 ' (2) 20.5
3) 23.5 | 4 145
AP o dBnaiiiig
(1) real number (2) irrational number
(3) natural number (4) rational number
JB & @
(1) %% Bopen (2)  selo dopges
(3) ez dopges (4)  eSUrioir Sopwes
AABC ~ A DEF if |E +|F =130°then |A = ...
AABC ~ A DEF ecos$ |E +|[F =130 escosd, |4 = ..o
(1) 60° ; (2) 70°
(3) 80° (4) 500

[12]
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The longest chord in a circle s ........... :

(1) diameter (2) radius

(3) arc (4) perimeter
2)59208° 98 DL &g cuveersassesns

(1) e (2) wPprgR
(3) s (4) =5
Acircle can have ........... parallel tangents.

5505 Ao SRIPCBISIITT GOG HE0RL SOPS wureresserees
1 1 (2 3

3) 2 | 4 4

The AMofa +2, a, ¢ =218 .cccccrnnnnn

a+2 a a-2 ©esoSKREY) SNeD wvrsenes
(1) a+2 2) a

(3) a-2 (4) 3a
Tan 2A =1 thenA=............

Tan 2A =1 A= ...
(1) 45.5 (2) 60.5
(3) 22.5 (4) 30.5

Which one of the following cannot be the probability of an event?

BB TS D £ ot Gk, BogrEEs BRDoH B2
(1) 0.3 @ -15
3) 15% @ 0.7

[13]
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71. Cumulative frequency areusedin ...................... calculations.
(1) A.M. (2) median
(3) range (4) mode
ODD TSRBOGIIITIS vererens riedontiod® GERATL.
(1) s (2) Detpiisnm
(3) T (4) ermodins
72. \i I
a b
g — < —_—
(1) \/‘ {_ (2) J; J;
3 o2
® 5% NG A
73. If Ac B and B C then...........
A c B %0050 Bc Ceaxsd wninnnne.
(1) AcC (2) CcA
3 A=C 4) B=A

74. The value of x which satisfies the equation 2x - (4 —x)=5-x is.........
2x — (4 = %) =5 — x & BRBOEPDY B B0D X DD wereenernarens
(1) 4.5 (2) 3
(3) 2.25 @) 0.5

5. G.C.F.of12,181s...........

12; 18 ek, Jvmv vsssisaiis
(1) 36 2) 6
(3) 12 (4) 18

S-1 [14]
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IfAis asubsetof B,thenA—B=........
ASDS BElodd&sisnd eond A—B=...........
(1) A 2) B
(3) B-A @

If P (::t:] =3x -k and P (1] =( then k=.......

llllllll

(1) 3 2) -3
3) -1 4) +1
The value of (I s \E] (I + v’ﬁ) T

(I—Jg] (I+\”E) b L T O P

(1 x%+3 2 x2-3
(3) x+9 4 =x-9

The point at which the line 2x + y = 8 intersects the X-axis.

2% + y = 8 To X-e5550550 20Got08%5 DOGBD) weeresrenes
(1) (8,0) (2) (0,8
3) (0, 4) 4) (4,0
2, Q& _
If Y, ; thenx= ...
X e OO = .uuiniviinns
a-b x-b
) (b-a), -a @ (b-a).-
3) (a-b), b 4 (b-a), a
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(1) mn

@ 5

(2)
(4)

---------------
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Slope of theline 3x-ay +1=01s4thena=..........

3x—ay+1=0 Cp ook, P04 0o a= ...

(1)

(3)
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E

The length of the diagonal of a square is 7./2, then the area of the squar

is ...... cm>.

.5 SUEE Gk, 5 S0 7./2 o WhtE e (BE8S 2o.00.08")

(1) 28
(3) 21

J 1+ Sin26 + Cos? 9 = wvuveeee
1) 1

3 21

Number of two digit numbers divisible by 31s...............

3 D ZPROWET COLOSO HOPGD cureresesens

(1) 10

(3) 40

[16]

(2)
(4)

(2)
(4)

2
(4)

14+/2

49

2

N5

20
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In a quadrilateral ABCD, if AB = CD, BC = AD and AC=BD, then ABCD

T
- (1) parallelogram (2) trapezium
(3) rhombus (4) square
ABCD bﬁﬁ{)ﬁﬂﬁsﬁﬂ =CD, BC=AD%0ci0 AC# BD ecosn ABCD ek ...........
(1) HRPBy DBotnRNR (2 (Bbeamo

(3) wrowd (4)  SbatEEH0

A cylinder and cone have bases of equal radii and arc of equal heights then the

volumes are in the ratioof ..........

28 BPSR0 HoDOK0 FOKY SEF TSR0 DB SORCKNST Thed PoNsORIesi

(1) 1:2 &) 231

(3) 3:1 - [y 198

5Sina — 3Cosa n

If 5T = 4 ,then
e 5Sina + 2Cos«a

5Sina — 3Cosa
5 T = 4 e50339 : —_ S
a.r:.:z 5Sina + 2Cosa

| =

(1) @

3)

on | o -3 | =
3|

(4)
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Set builder formof {1, 3,5, 7........... 19}
(1) {a/xisodd numberand x <19} (2) {2x/xe N, x<1}

(3) {x+2/x e N} (4) {x/xiseven number and x>19
{1 (— 19} 5208 Gasky, IoHED EFSIN rerern

(1) {x/x 2% Soggaodain x <19} (2) {2x/xeN, x<1}

(3) {x+2/x e N} (4)  {x/x SBlopgsdain x>19)
The value of Log 0" i8 vvvereee...

Lo S oena

() =1 2 -2

(3) —10 (4) 0.01

Find the zero's of the quadratic polynomial x2 —5x_14.

x% ~5x—14 B LTRS0 ETGED verrerenes
(1) (+7,-2) 2y 7,-2)
'I‘hevaluenfywhenx+y=2 ) oGS
xy Xy
! S xﬂ}F:ﬁwﬁy;’Jm‘aﬁ .............
Xy Xy
; @ 5 ® @ 3

If one root of the quadratic equation x%2— 4x +1=0 is 2++/3, then the oth

root 1S ....c....
x2-4x+1=0 350 BaBEERR00 G0k, 25 BaPORm 2+4/3 9000 BOES BAPEED crenes
(1) 7+3 2 7-43 (B) 1+.3 4 2-.3

(18]
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In a G.P. the 3% term is 24 and 6* term is 192 then 10" termis...........

toes BAS® 3 % 5525535 24 555050 6 % 55500 192 0055 10 35 S92 svee
(1) 2062 e (2 3072
(3) 4072 (@) 1072

The area of a triangle is zero means............
(1) points are parallel | (2) points are collinear

(3) points are equal (4) points are negative

(1) Dolsmes Saretoress (2) 588onH Doty
(3) Haows ﬂmm (4) oo ﬂoﬁ:@m

Sides of two similar triangles are in the ratio of 4 : 9. Area of these triangles are

intheratioof ...........

Cotis 3UFD 1EEnwEe rae E:S;,@ 4 1 9 29000 TR BPPGD DB wereeens
(1) 2:3 (2) 4:9
(3) 8l:16 (4) 16:81

A heap of the rice is in the form of cone its is diameter 12 m, height 1s 8 m, then

the volume is...........
(1) 200.5 Cu.cm (2) '300.14 Cu.cm
(3) 301.44Cu.m * (4  200.15Cu.m

| 25 TEg) OPR GRG0 12 Do, e 8 Do, 39 Bolp W8 di TR HINSSRPEIII cesesrusene

S5-1

(1) 200.5 3. po.Do, - (2) 300.14 $o. 2o.Do.
(3) 301.44%3.9. - (4 200.15 . 2o,
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. !
If the shadow of the tree is -\/_? times the height of the tree, then the angle of

elevation of the sunis..............
i)
2.5 Dt G0, NS LY TR B 73 Beas &G e SIRT B &el; e ennenvens
(1) 45° . (2) 309
(3) 70° (4) 60°

When two coins tossed simultaneously, the probability of getting at least one

headis...........

Both THFEB0LE 2.8 8 MBS B0 ¥ §'%s, B Sogridd

1 (2)

(3) (4)

o
e o o

While drawing ogive curve we take on X-axis and Y-axis the following
respectively.

(1) cla.ss interval, frequency

(2) lower boundary, upper boundary

(3) boundaries, cumulative frequency

(4) upper boundary, lower boundary

2,455 Sz Aosoed® X-esiganod Sodain Y-eoi§oasd HEnim 230 Siofssets
(1) SBRS esoBim, Moo

(2) BRSBTS, MBI

(3) e, 0D O

(4) ORI, OIONTE
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The liquid which expands during its change of state into solid stateis..........
(1) water | (2) alcohol
(3) mercury (4) liquid wax
RIS BRI DOy TE 500 DODIEIA crreses
(1) o (2) esepaiden
(3) eesssiso (4 EROEVRI
At this temperature water changes into gaseous state (in “Kelvin)
B4 300 SPIRESE I TALRBEW Srtecd (388 o8)
(1) 100 (2) 373 (3) 273 (4) 173
The boiling point of water might be less at this place.
(1) Hyderabad (2) Ooty (3) Mumbai (4) Chennal
54 (300 E08:3:08" A3 BIRQF50 BENIP GO wuesresees
(1) e (2) &2 (3) Savorrams (4) =
Three bodies A, B and C are in thermal equilibrium. The temperature of B is

45°C, then the temperature of 'C' (in°C) is ..........

A, B8k C &iS3iisapes &5 35eompds® emmon. B &, 626 45°C woxsd C &,
& (°C 08 ............

(1) 45 2) 50 - (3) 40 (4) 90

An example for photo chemical reaction is ............

(1) the decomposition of silver bromide into silver and bromine

(2) the decomposition of water into hydrogen and oxygen

(3) the decomposition of calcium carbonate into caleium oxide and carbon
dioxide

(4) the decomposition of lead nitrate into lead oxide, nitrogen peroxide and
oxygen

SO0 SRR WEHD 2.5 ST veersesesesan

(1) HexB B - b, (FhuSeom D&

(2) o - e, esdymSeom DERHe

(3) Tdao seERS - Te &35 W00k e B &G DEFYe

(@) BEDES - & B, DS S PTBE B8k esdymSem EEHes
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The moist chlorine changes the colour of red rose, thenthisisa.............

(1) photo chemical reaction (2) oxidation

(3) despersion of colour N (4) bleaching

Bt S05 s A Koo Bos SIS, OB werrrron

(1) Sved Bras By (2) esd e

(3) “EaEsH (4) DSowsnos

When gingerly oil is left for longer periods, it gets spoiled. This is called ........
(1) bleaching - (2) rancidity

(3) reduction (4) hydrogenation

R DT J.'}?.JL.;'}E‘H:: Gowo 298 wrtics SBntie Bz 3oh {ﬁﬁﬁ ——

(1) DBowsam (2) Bood) Bste (3) Sowstesnas (4) PEE3sS
When a girl of 4 feet height sees her image in the plane mirror, the size of her

image (in feet) is ............... _
e b JENY GRTEw, S0 Eneaos® @ [?:@ﬂ::ﬂ::: Lo, e 380w
98P0 (BI0eE) ...

1) 8 (2) 4 {3) 1 (4) 2

If an object is placed at a distance of 10 cms from a concave mirror of focal
length 15 cms, the position of the image willbe ...........

(1) at the back of the mirror

(2) at the center of a curvature

(3) at principal focus

(4) between principal focus and center of a curvature

15 2001100 TEE0BLIR05 i 3T 8ty eainns® 5i8 Emtshas 10 oo, e [odees oo

(1) Sheso ol (2) S Sopsa 5
(3) RS (4) STOTPEVET SoS Wi
The nature of image formed in convex mirror ............
(1) virtual image, diminished (2) virtual image, enlarged
(3) realimage, diminished (4) real image, enlarged g
00T e300 &° DG BBED0LY HEFEH verrerennnen :
(1) Qo5rs 2S3Dowio, WHd (2)  Qogr; EdDowRn, DR
(3) e E&DowB, B (4) Qe ODowB0, DED
[22] -



111.

112.

113.

114,

113.

116.

Q. Booklet A

Code
If the pH value of a substance is '2', itisa ............
(1) weak base (2) strong base
(8) weak acid (4) strong acid
2.5 Sorgo G, pH Jevid '2' 90050 &8 weessesesens
(1) oozt (2) e FUaD
(3) weums essiios (4) 2R esaisw

Which one of the following will have pH value more than 7?

(1) Lemon juice (2) Tomato juice
(3) Lime water (4) Sugar syrup
pH S0l 7 53 2%, ROASA.

(1) bl (2) e e
3) sogpde @) w5E>%

The number of water molecules in gypsum crystalis...................

iy ydto Gy, Ned @m@m-ﬁoa:a
(1) 10 2) 1/2 3) 5 @) 2

If the refractive index of a transparent material is 3/2, the speed of light in that

medium (in m/s) is...............

B SRR ST S(E25% Komso 31'2 5003, e CXHNed® Thed Wit (EJ;-J,!‘?; eé's)

(1) 4.5x 108 (2) 4.5x 101

(3) 2x10° (4) 2x100

Which one of the following is Snell's law?

T 1300 TS 6 Jative |

(1) n, Sini = n, Sinr (2) n Sinr = n, Sini
(3) S::ti = n, Sinr (4) S?ir = n, Sint

The angle of deviation produced by the glassslabis............
TG0, HeD 5708 et D90 Fe80 e

(1) 45 (2) 0° (3 30° (4) 60°
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Q. Booklet A

Code

117. A bird is flying down vertically towards the surface of water in a pond with

118.

S-1

constant speed and a fish is exactly vertically below the bird inside the water.
Then the bird will appear to the fish tobe ..............

(a) farther away than its actual distance.

(b) closer than its actual distance.

(c) moving faster than its actual speed.

{df: moving slower than its actual speed.

Which among the above are true?
(1) (a) and (b) (2) (a)and(c)
(3) (a)and (d) (4) (b)and(d)

essvios &) 193 9™ De3 &tveo B4 eowere HUHAE" Bo08 Harriisninti eisdl
eowerr SOE° == ks €33 BHFOM BIeoloBool wivvssisssnses

(a) 3§ ebesPo ¥oi3 Sbom

(b) 5§ eiden Pdo Yol WK™

() 58755 Do o83 oy Dol Ktboeatiogen

(d) 587755 Do S0l B Aol Stoectsgea

 eooTed® T SRR
(1) (a)and (b) (2) (a)and(c)
(3) (a)and(d) (4) (b) and (d)

Which one of the following is NOT the characteristic feature of the image formed
when the object is placed at 2F, of the convex lens? |

(1) Imageis at 2F,

(2) Real image

(3) Size of the object and image are same

(4) Erect image

o0gPES Keatian Soootss 2F 1 55 Moot Dt pdDow efrsin s (300 TS 2583
(1) 2F, 08 @8Dowhn A

(2) dz EdDowHI

(3) SRBORTeNRL, S0 HTNFLIRLL SRFINL

(4) Aedesy BEodownwe

[24] 1




119.

120.

121.

122.

S-1

Q. Booklet A

Code

Which one of the following is lens maker's formula?

Be (200 T3S ek HOSPE BRI ceererenens -
1 o1 -
@ =1/ F+ 1R ] @), el Jah=] 3
&) l=(ﬂ=-1){1 = 1} (4). l=(”+1}[1 =X
f R f R, Rz..
When objects at different distances are seen by the eye, one of the following
remains constant. .
(1) Focal length of eye lens (2) Object distance from eye lens

(3) The radii of curvature of eye lens (:i)" Image distance from eye lens

ks — & - ™ - 2
20 EFTeE’ Ko Sasens SIS Bob T8 St &otl.

(1) Dol rdiodlan (2) SoudsesNo Hool S Nedrrbus
(3) Hodl HESP TEPER (4) SoeISesso doot SN0 BRGR®

If far point of a long sighted person is 'x'. The focal length of the lens he has to

USEC 1S vanvnnrnsnnes

Moid3 5013 ETCDCEIDI 1o BP0 '’ 0ok BF el TERCID SRS THEBON0 coruweseee:
25x | 25x
1) x —25 (2) x + 25
x - 25 x + 25
(3) 8% ) 25x

For a person of 8 years age, the least distance of distant visionis ...........

(1) 1m (2) 2m
(3) Tto8cm | (4) 1to2m
8 oo HOKHy Ko Hed GR0%), SN SISETTS versrrsssene:
Q) T8 . (2) 2.
(B) T Rsed 8 o . (4) 150082 .
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123.

124.

125.

126.

Q. Booklet A

Code

The relation between velocity of light 'c', wavelength ;4 and frequency of a wave
WS e

(1) F=ick o (2) c=rA

3) er=4 . (4) cA=r

Tvod witas ', Boliglo ' 4 ', W0baix 5??5:‘.’;)}655 'r' ¥ Ke ;’:-::e.:-oé,‘:'a‘m ..........

(1) r=ci (2) c=rAi

3) ecr=4 4 cil=r

The maximum number of electrons that can be accommodated in the L-shell of
an atomis.............

2.8 58areER Ko 'L Dok 5ot MR NOQ JOFHR00 H0D5 v

(1) 2 | 2 4

3 8 | 4) 16

When / = 3 the maximum number of electrons that can occupy in the

corresponding subshell is .............

[ = 3 eoasd PR3 HooRols &sthEes’ dots KO NOR IO SO eerseersssens
1) 2 2 6
(3) 10 4 14

The predicted properties of elements namely eka-boran, eka-aluminium and
oka-silicon were close to the observed properties of the following elements
respectively.

(1) Scandium, Gallium, Germanium (2) Gallium, Germanium, Scandium

(8) Gallium, Scandium, Germanium (4) Germanium, Gallium, Scandium

OETE, DI e Rsaie 005 DFHOTE 0l SRl Somes ST &+ (o
RareTre $0PDHLL STRE SAPSCTT &:000. .

(1) dmodco, MO, ECN0 (2) ™dALe, FORCKE, VY,olkdo

(38) ™dake, Medaie, BGICHO (4) =SNawe, Mdake, yeddie
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Q. Booklet A

Code
127. The number of elements in the sixth period 1s ...............
e35 HOGRE 5% BoPOTY B0y rareenessens
(1) 8 (2) 18
(3) 32 (4) 30

128.

129.

As we go from left to right in a period, the atomic number and atomic radius
1 | SR

(1) both increase

(2) both decrease |

(3) atomic number increases and atomic radius decreases

(4) atomic number decreases and atomic radius increases

$EaRe HBoHES Nt Kood XA Sk 5B, ST 508y, STRPER TEPTEBS e
(1) Colir BeICTOND

(2) Totir Brozron

(3) HBaTe Sopg POR BLRFeL Tl B

(4) SEsre Sops B BERFE TPrrgo BLILBCD

The abnormal pair of elements in the followingis ..............

52 1300 IS’ I DUPOTD RO weresrseresess
(1) Hand He | (2) NeandAr
(3 Kr and K (499 KandO

130.

131.

Which one of the following elements has more atomic radii?

52 (3ol oy Sareses BO3 BHArEL TRVREe JEDIT Gotocd.

. (1) Be (2) Mg
(3) Ca (4) Sr
Which one of the following elements is electronegative?
Gz 1300 :F_IJ@* 22063 DECPEHED N WTOEID cieiesssess
(1) Na 2y O
@ Mg - 4 Ca

S-1
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132.

133.

134.

135.

136.

[ |

Q. Booklet A

Code
The bond angle of Berelium Chloride is...........
258cie E’amc‘:‘-& & 2a0ik SPeno Ded s A
(1) 180° (2) 120° " (3) 110° (4) 104.31°
The inert gas element which do not have octate configuration in the outer most
orbitis ....coerrenrenns | |
a:‘?’mﬂwﬁs RS IS0 89 E@cﬁﬁ@ = Lh T L SRR,
(1) Ar QKr - (3 Rn (4) He
A charge is moved from a point A to point B. The work done to move an unit

charge during this process 1s called .............

(1) potentialatA

(2) potential at B

(3) potential difference between Aand B

(4) current from A to B

TErsed® LY eiio A ‘;:z:::ﬁ’a B% EE:B{:-E:. B2 (Shres e &3 Dol Wl Kenteod

D25 s BOURERD DI T Bol DO SOMTLD weervsersseres

(1) AngFeqond (2) By Feqond

(3) A, B oo Peogond ko (4) Aol B % ESrcd o

The unit generally used for powér consumptionis ...............

(1) Kilowatt (2) Volt - (3) Ampere (4) Ohm
SrEREROTT Do EIEOLs DG BOCH BADEVS GBEFACE FRPLI0 cererasssceenes ;
(1) 38%=e (2) 6 (3) esobassh (4) £

The equwalent resistance is '8Q', when two res1stances are connected in series

and '1.5Q"' when they are cnnnected in parallel Then the values of these

resistancesis ............

oti %0 Se36" Sendsdes H06 2650 8Q 0 TIY Sarodtten 596D ¢B 1.5Q
es0as B D ER000 COo0K), DOV srrenssssrsses

(1) 2,0.75 (2) 6,0.75

(3) 0.75,0.75 (4) 2,6
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138.

139.

140.

Q. Booklet A

Code

In an electrie circuilt fuse is connected 1n ...........
(1) seriesto neutral wire (2) series to live wire

(3) parallel to neutral wire (4) parallel to live wire

Deoe® $oAHeE’ Feitd &+ (808 HOTP FESHTUD werrerersens
(1) Sorgeod 36 Geds” (2) 25360 EAe’
(3) wovgead 2B Siareitsom (4) BSRE® BaroBUIw

Which one of the following material has high resistivity?

(1) Silicon (2) Wetwood
(3) Glass (4) Rubber
B+ (300 ST DELEB AT YD wrereennens

1) 205 (2) oay,

(8) e _ . (4) Tepto
Which one of the following cﬁnverts mechanical energy into electrical energy?
(1) Motor (2) Battery
(3) Generator (4) Invertor
OSPo(GE B30 DI BT DTCND cevsenrennas

(1) rerb (2) =gd

(3) exsdesb | (4) g0

If we stretch the thumb, index finger and middle finger perpendicular to each

other i1n the right hand rule, with regard to positive charge, then these three

fingers indicate the following directions respectively, (When direction of force

18 'F', direction of ve]ﬁci!;y of charge is 'V, direction of field is 'B").

GRS BowoRodd B DO Aciees® & BE % Teo, WIS e, wwes 2550

- ¢ 573 vomorr solips (weols T, esds Bres V', §50% 'B') Sataridit mosm

S-1

308 BFeds Bradomn
(1) F,V\B " (2) V. F,. B
3) BVF 4) F,B,V
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141.

142,

143.

144.

145.

S-1

Q. Booklet A

Code

A current carrylng wire of length L 1s placed perpendicular to a umiform magnetic

field B. Then the force F acting on the wire with current Iis ...........

B es0553m,06 et Ko S wohdmcBiodd conem L &k Ko &r8° 1 2sed

ST GoB. esdI Ko ¥ oy 66 80 F = ...,

(1) IL/B (2) ILB

(3) I/LB B (4) B/IL

The reducing agent in thermite fléactiﬂn.

30> WS XaseTse.

(1) Al | (2) Mg

(3) Fe . 4) St

The process in which the ore is heated in the absence of air.

(1) Roasting | (2) Calcination

(3) Smelting (4) Electrolyte refining

O esotioerend’ BHoe GREsY DEDD FI3a.

(1) 450 (2) nsteso

(3) Siwde (4) esdEsse

Which one of the following is a carbonate ore?

(1) Magnesite (2) Bauxite

(3) Gypsum (4) Galena

2 (208 TUE TETID GBS crerersssrasanns

(1) SRS 2) @238

(8) %y (4 "= -

Highly reactive element that displaces H, in its reaction with water

Vapouris.........

0 BoRen ¥R D3 D08’ 8D Wi’ ipEaSt Sipcio DEBOD BPOBO cerrerrsees
(1) Na (2) Ca (3) K (4) Mg

(30]
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147.

148.

149.

150.

Q. Booklet A

Code

The functional group which is recognized as alcoholis.............

ese)Tbenr Ho0owesdidensiton (R0 HEATETFEL e reesrens

(1) - CHO @ -OH

3) - CO (4) - COOH

A hydrocarbon having single bond in between all carbon atomsis...........
(1) Ethane (2) Ethene

(3) Propene | (4} Butyne

S8 &8 e5edy 3?%5 BEAProPe B0 JELeTFesy 7.‘-:33@31&,35 ..........

(1) 843 (2) BB

(3) @3 (4)  orEo

The unsaturated hydrocarbon that contain multiple bonds undergo the
following type of reaction to become saturated hydrocarbon.

(1) Combustion (2) Addition

(3) Oxidation (4) Substitution

wironcmres ¥R ol ed) Setod el WET G Ses, Sotys inEimtSeam KrsmRs,

T (328 t’:GSé'E TP,

(1} &3 (2) Ho¥ed

(3) esdy¥tes (4 poEss

Dissociation of ions in. aqueous acetic acid is a reversible process, because

L - (ORI

(1) weak acid (2) strongacid

(3) weak base (4) strong acid

238 D morrBee’ Loy ARG B3 LY BT B - Dot¥e & LY ..

(1) wemd (2) e eizo

(3) welmspto 1) eedsdto

The number of hydrogen atoms in octene is ............

H§5 &% ?{ﬁﬂs ﬁﬁﬁ?m@a PO srerensnsnes

(1) 8 - (2) 18 (3) 16 (4) 14
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